Strategic Planning

1. Differentiate between profit maximization and wealth maximization within a strategic management context? (5)
	Wealth Maximisation
	Profit Maximisation

	· Long term focus of the success of the organisation 
	· Short term focus of the success of the organisation

	· Wealth maximisation for all stakeholders 
	· Profit maximations for all shareholders.

	· Emphasis sustainability and survival in the long term
	· Emphasis max profit, only focus on turnover, sales and marketing.

	· Organisation primary objective
	· Organisation secondary objective


· E.g. Organisation decides to invest heavily in training their staff with new computer.  It will have a negative impact on the short term.  The benefit for wealth maximization will only show at a later stage.

2. Define strategic management? (5)
· A set of managerial decisions and actions that determines the long term performance of an organisation.
· It includes environmental scanning, strategic formulation, strategy implementation, evaluation and control.
· To create sustain competitive advantages and to achieve the organisation objectives.

· It is about maximization of all stakeholders’ wealth and not only profit maximization.
· It creates new and different opportunities for tomorrow.
3. What is the single major benefit of using a Strategic Management approach to decision making?
· It ensures that managers and employees at all levels of the organisation work towards the same goal.
· It also indicates where the organisation is going and how it is going to get there.
· This will ensure that the long term objective of an organisation is achieved.
· It will add value to the stakeholders and reach competitive advantages.
4. Comment on arguments against the use of strategic management in the contemporary business environment? (12) (Disadvantages)

· Too much time spent of planning and not enough on implementing the strategy.

· Unrealistic expectations from managers and employees.  Involvement is important.

· The uncertainty of implementation.  If not clear till by the lower level.

· Negative perceptions of strategic management.  If everyone, especially top management doesn’t support the importance of strategic management.

·  No specific objectives and measurable outcomes.  Don’t know if strategy was implemented successful or not.

· Culture of change, strategic management and organizational change go hand and hand.

· Success grove, if strategy successful they do not foresee any difficulties in the future. 

· If strategic management is executed incorrectly it could negatively affect an organisations productivity, profitability and competitive advantages.
5. Comment on arguments for the use of strategic management in the contemporary business environment? (12)/ Discuss the value of strategic management in a contemporary organisation by referring to the benefits of strategic management? (9) ****
· Higher profitability, better improvement in turnover and profits.
· Higher Productivity, better planning of resources and material to improve productivity.
· Improved communication across different functions in the organisation.
· Empowerment of employees, they take direct control and ownership of certain strategies and commit to implement it successfully.
· Discipline and a sense of responsibility to the management of the organisation.  Management takes full responsibility for its strategic plans and implementation.
· Better time management because the strategic process is broken down into more specific time frames, giving employees a better idea of their own time management.
· Better allocation of resource because resources are allocated according to the strategic due to implement.
· Encourage proactive thinking and breaks down resistance to change.  Employees can see in which phase the strategic process is moving.
· Provide a framework in which every employee can see and understand in which phase the strategy process is. 
6. Explain how success is measured in strategic management terms? (5)
· Profit is not the only measure of organisation success.

· Strategic management is about surviving in a changing environment.

· To survive continuously, strategic managers need to make decisions that will enable them to achieve strategic competitiveness and above average returns.
· If they achieve the organisations primary objective, namely wealth maximization for stakeholders.
· To survive in the long term.
7. Discuss the impact of corporate citizenship on strategic planning? (5)

· Corporate citizenship deals with the external relationship of the organisation and the impact on society and it is important in the Strategic Management process.
· The organisations right to exist depends on its environment and society.

· A responsive corporate policy may enhance an organisations long term profitability and sustainability.

· It is similar to the strategic objective, wealth maximization for all stakeholders.

· National legislation threatens to increase regulation if organisations do not meet changing social standards.

8. What is corporate citizenship? (5)

· It is based on the idea that organisations have a duty to serve not only the financial interests of shareholders but also the interests of society.
· It is not just a trend
· It deals with compliance with national legislation.
· It should be considered ethical and in accordance with the expectations of society and community standards.
· This result that communities are more aware of their rights and consumers more persistent.
9. Explain what corporate citizenship entails? (5)

· Corporate social responsibility refers to the organizational decision making linked to ethical, legal requirement and respect for communities and the environment.
· Environmental responsibility refers to steps that organisations should take to ensure that they do not harm the environment.

· Sustainability refers to development that meets the needs of the present generation without compromising the ability of future generations to meet their needs.

· Sustainable reporting and the triple bottom line refer to reporting on the economic, social and environmental impact of organisations activities.

· Stakeholder engagement deals with identifying stakeholders and how stakeholder’s relationship should be managed.
10. Describe the impact of the King II Report with regard to Corporate Governance on strategic planning? (5) (not sure)
· Corporate Governance refers to the formal system of accountability of the board of directors to shareholders.

· King II report promotes the highest standards or corporate governance in S.A.

· It identifies 7 characteristics of good corporate governance, namely discipline, transparency, independence, accountability, responsibility, fairness and social responsibility.

· Recommendations remain self-regulatory and include the code of practices and conduct.

· Looks at matters such as, risk management, boards and directors, internal auditing, accounting, relations with shareholders and communication.
11. Explain the importance of strategic direction in strategic planning? (6)
· Strategic planning begins with the setting of strategic direction for the organisation.

· Before a strategy can be proposed or implemented, the organisation must develop a clear idea of where it is going and why.

· As this is the first step in the strategic planning process, all other steps follow this one. It offers the overall theme for all activities that follow.

· Strategic direction has an impact on various stakeholder and all strategic decisions should be aligned with the interests of society.

· Strategic direction also has an impact in the natural environment.

· Good corporate citizenship and governance principles should be considered when setting strategic direction.

12. Differentiate between the 3 phases in the strategic management process? (6)
· The strategic management process is divided into 3 stages, namely 1st Strategic planning, 2nd strategic implementation and 3rd strategic control.
· The Strategic direction is the 1st step in strategic planning.

· Strategic direction can be set with the Vision statement, mission statement or strategic intent.

· Strategy implementation is the 2nd step in the strategic management process. 

· Strategies are implemented through different drivers.

· The last stage of Strategic Management process is Strategic control.

· This is the checking stage.

· This stage management would evaluate the success or failure of the chosen strategies.

13. Depict and discuss the logical flow of activities in strategic management? (16)****
· Strategic management is a continuous process, focused on long term survival in a changing environment.
· It about what the organisation have, what the environment offers in which it operates and how these elements can be combined to gain competitive advantages.

· The strategic management process is divided into 3 stages, namely 1st Strategic planning, 2nd strategic implementation and 3rd strategic control.
· The Strategic direction is the 1st step in strategic planning.

· Strategic direction can be set with the Vision statement, mission statement or strategic intent.
· Vision statement
· Is the 1st step in the strategic planning and serves as a roadmap of the organisation.  
· It answers the question “What we want to become”.  Focus on the future. 
· It also serves as a basis for formulating the mission statement.
· Mission statement
· A statement of PURPOSE that distinguishes an organisation from other similar organisations.
· It answers the question “What is our business”.  Focus on the present.
· The 2nd step in strategic planning is environmental analyses, internally and externally.

· Once the organisation has set is strategic direction, it needs to assess its internal strengths and weaknesses.

· This will indicate where improvements are needed and what factors can be built on.

· The internal analysis to use is the resource based view, value-chain analysis and the functional approach.   
· After the internal analyses, the external analyses are performed to determine the impacts on the organisation because of the environment.  

· The organisation is exposed to opportunities and threats of the external environment.  

· These opportunities and threats can be found in the macro environment, the industry environment and market or task environment.

· The 3rd step is to formulate strategic (long term) goals.

· The long term goals are translated from the mission statement.  

· The long term goals are more detail and specific and can be measured.

· All the information that is gathered through the internal and external environment analyses is then used to choose strategies.

· Strategy choices are the 4th step in the strategic planning process.

· The organisation uses its strengths to exploit the opportunities in the external environment.

· This will lead to competitive advantages.

· Once an organisation has made its strategic choices it must be implemented.

· Strategy implementation is the 2nd step in the strategic management process. 
· Strategies are implemented through different drivers.

· The last stage of Strategic Management process is Strategic control.
· This is the checking stage.

· This stage management would evaluate the success or failure of the chosen strategies.
14. Diagrammatically depict the strategic planning process? Depict the position of strategic choice? (7)
15. Diagrammatically illustrate where the strategic direction fits into the strategic management process? (7)
16. Explain the relationship between an organisation’s vision, mission and long-term goals? (5)
· All the above sets the strategic direction of an organisation.

· The vision statement is the 1st step in strategic planning and answers the question “What we want to become”

· The vision statement serves as a basis for formulating the mission statement.  

· The mission statement answers the question “What is our business”.

· The mission statement serves as the foundation for the development of long-term objectives and the selection of strategies.

17. Differentiate between a vision statement, a mission statement and strategic intent? (6)
· Vision statement
· Is the 1st step in the strategic planning and serves as a roadmap of the organisation.  
· It answers the question “What we want to become”.  Focus on the future. 
· It also serves as a basis for formulating the mission statement.
· Mission statement
· Often derived from the vision statement.
· A statement of PURPOSE that distinguishes an organisation from others.
· Strives to address the interest of the organisations stakeholders.
· It answers the question “What is our business”.  Focus on the present.
· Strategic intent
· Gives a sense of direction and forms a basis for resource allocation.

· It contains elements of both vision and mission. 
· Can also be the basis for the mission statement
18. Identify and explain the components of a good mission statement? (8)
· The 3 core components of a mission statement are the basic products and services of the organisation, the primary market and the principal technology used for the production or delivery of the products and services.
· Products and services that the organisation offers or plans to role out in future.
· Markets have to do with where the organisation does its business.
· Technology has to do with how the organisation does its business.
· Survival, growth and profitability deal with the economic goals of the organisation.
· An organisation’s philosophy reflects its beliefs and values, as well as commitment in terms of how the organisation will be managed.
· The public, as well as present and potential customers, has certain perceptions and expectations of the organisation.
· Organisational self-concept deals with an organisations ability to know itself.
· Organisation use customers and quality as important component of the mission statement.    
19. Discuss the role of the mission statement in the strategic management process? (5)
· Mission statement is a statement of purpose that distinguishes an organisation from other similar ones.

· It identifies the scope of the organisations operations in terms of PRODUCT, MARKET and TECHNOLOGY.

· It answers the question “What is our business”

· A clear mission statement is necessary before any other steps in strategy formulation can be performed.

· It is a key indicator of how the organisation sees its stakeholders.

· It serves as the foundation for the development of long-term objectives and selection of strategies.

20.   Identify and discuss the claims and expectations of various stakeholders of an organisation? (9)
· Shareholders _ dividends, capital growth, safe investment

· Employees_  job security, compensation, job satisfaction

· Customers _ high quality products and good service, value for money

· Suppliers _ regular payments, continuity of business, long term relationship

· Financial institution _ Interest, security of loan

· Competitors _ fair business, practices ethical competition

· Government _ taxes, employment skills, development of BEE

· Media and press _ transparent and honest reporting

· General community _ fair employment, socially and environmentally responsible actions and no discrimination
21.   Discuss the importance of assessing the environment? (4)

· Environment analysis is about the internal and external assessment of the organisation.
· It is about what the organisation has or does not have in terms of resources and capabilities.
· It’s also what is happening in the external environment.
· Environment analysis is important because the success of a new strategy for the organisation depends on the strategy fit between the organisation internal situation and the external conditions.
· Strategic managers cannot choose a specific strategic direction if they are not aware of the organisation capabilities or lack of capabilities.
· For survival and growth, an organisation needs to perform the internal (strengths and weaknesses) and external (opportunities and threats) environments.
· It is also make it easier to design strategies to achieve long-term goals. 
22. Briefly discuss how meaningful comparisons can be made in an internal environment analysis? (5)
· Strategic managers cannot choose a specific direction if they are not aware of the organisations capabilities and lack of capabilities.

· They cannot choose a strategy if they do not know what assets the organisation has and does not have.

· When an organisation is able to match what it can do and what it might do, it can develop the vision, to pursue the mission and to select and implement strategies.

· Strategic managers also need to view the organisation as a bundle of resources, capabilities ad core competencies to create competitive advantage.
23. Expound on the use of SWOT analysis in assessing the environment? (5)
· It is the acronym for strength, weakness, opportunities and threats.
· It provides a framework for analyzing these elements in the organisation internal (s + w) and external (o + t) environment.
· Help managers to create a quick overview of an organisation strategic situation. 
· The design of the strategy derived from a sound fit between the organisation unique capabilities and the external environment.
· Strategic managers cannot choose a specific direction fit they not aware of the organisation capabilities or lack of capabilities or if they do not know what assets the organisation has and does not have.
24. Explain what the resource-based view of an organisation encompasses? (6)
· Organisations resources are more important than the industry structure in an attempt to gain and keep its competitive advantages.
· The argument is that the organisation unique combination of resources and capabilities will determine how effective the organisation is functioning.
· The main concern for competitive advantage is organizational resources and capabilities.
· The 3 categories of resources are tangible assets, intangible assets and organizational capabilities.
· Tangible assets are the organisation location, status of its building and equipment.
· Intangible assets are assets one cannot touch but create the real competitive advantages.
· Capabilities are the glue that emerges over time and binds the organisation together. 
25. The resource-based view contends that organizational performance is primary determined by internal resources.  Identify and differentiate between the main internal resources of an organisation? (6)

· The internal resources are tangible assets, intangible assets and organisation capabilities.
· Tangible assets are easy to identify because an organisation location, building and equipment are visible.

· The value of tangible assets can be determined by looking at the financial statements, especially the balance sheet.

· Intangible assets one cannot touch but it create the real competitive advantages.

· As intangible assets are less visible it is more difficult for competitors to understand, imitate and replace.

· Capabilities are the glue that emerges over time and binds the organisation together.

· It comprises the ability to combine assets (people and processes) to transform the organisation inputs into outputs.
26. Discuss value chain analysis as an approach to internal assessment? (8)

· Every organisation has a chain of activities through which the inputs are transformed into the outputs.
· During the process from input to output, different activities have to be performed. 
· The value chain examines each of the activities to determine where value is really added to the product or service (output).
· Thus, the value chain sees an organisation as a series of value-added activities.
· It attempts to identity the strengths and weaknesses in the organisation activities.
· These activities can be classified as primary activities and secondary activities. 
· Primary activities are involved in the physical creation of the product or service.
· Secondary activities allow primary activities to take place on an ongoing basis.
27. Describe the steps in conducting a value chain analysis? (8) 
· Identify and classify the various primary secondary activities of an organisation.

· Allocate cost to every activity.  Activity based costing can be used.
· Identity the activities that differentiate the organisation from competitors and serve as a source of competitive advantage.

· Examine the value chain.

· Evaluate the results of the VCA and classify the various activities as strengths and weaknesses of the organisation.
28. Diagrammatically depict and explain the value-chain approach to assessing the internal environment of an organistation? (10)   
29. Explain what the functional approach entails? (4)
· A simplistic method of analyzing the usual business functions in an organisation.
· It aims to determine how well or poorly these functions are being performed and what resource these functional areas needs to perform effectively.
· Some of the functions are
· Finance and accounting (organisation profitability or losses)
· Marketing (marketing strategy)
· Production (production capacity)
· Research and development (new products or innovations)
· Human resources (morale of employees, skills, self management team)
30. Critically discuss the use of the functional approach in conducting an internal analysis? (5) (no 25 and add disadvantages below)
· The attention is entirely focused on the functional areas.

· There is no determination if the functional approach makes an important contribution to the organisation competitive advantage.

· The bigger picture is missing.

· The approach should not be used in isolation.

· It should be used in combination to one or both of the other two approaches Resource based view and Value chain approach.

31. Identify and explain 5 macro-environmental variables that may have an impact on an organisation? (5)/Discuss the variable that comprises the sub environments in the macro environment? (16)

· Political/legal environment
· Has 3 parts, namely existing laws, laws of amendments and unannounced new laws or suspended clauses of existing laws.
· These laws may reduce the profit potential of organisations.
· Economic environment

· The health of a nation’s economy effects an organisation that’s why it is important to identify changes and trends.  E.g. inflation, recession, interest rates.
· Social environment

· It is a continuous process of change; it’s about society’s attitude and cultural values.

· Although it’s difficult to translate all the social and culture changes, it remains important to be successful with strategic planning.
· Technological environment

· Technological changes effects many aspects of society.  No organisation can afford to stay behind in technological development.
· Ecological environment
· It is the natural environment

· Manufacturing process need to become more environmentally friendly.
· Refers to the relationship between human beings, organisation and the air, soil and water in the environment.
32. Depict the interrelated activities of a continuous process of external environmental analysis? (5)***
· The external environment is done to identify opportunities and threats.

· The external environment process is ongoing.

· It consist of the following activities:

· 1.  Scanning _Early signals of environment changes and trends are identity.

· 2.  Monitoring _ meaning of changes and trends are detected through ongoing observation.

· 3.  Forecasting _ based on monitoring changes and trends the projections of outcome are developed.

· 4.  Assessing _ the timing and importance of environmental changes and trends for organisations strengths and their management are determined.
33. Describe external environmental analysis? (5)
· The external environment is done to identify opportunities and threats.

· The external environment is divided into 3 major areas, namely Macro, Industry and Market environment.

· Organisations must understand and be aware of all the dimensions of the external environment to achieve strategic competitiveness.

· Organisations cannot directly control the external environment segments and elements

· These elements have a major influence on organisations.

· Organisations need to empower their managers and employees to identify, monitor, forecast and evaluate the key external forces to enable them to identify opportunities and threats.
34. Explain the importance of an industry assessment as part of an external environmental assessment? (6)
· The organisation and the environment in which it operates influence each other.
· The organisation cannot be successful if it’s not in step with its environment.
· It helps with the underlying problem of an organisation, the environment changes faster than the organisation can adjust.

· Because of the increasing changes in markets and industries around the world, external environmental analysis becomes important for Strategic Management.
· It enables managers to formulate strategies to take advantage of opportunities and reduce the impact of treats.

· It helps to develop a clear vision and mission.
35. Explain how Porter’s five forces model is used in industry assessment? (10)
· Threat of new entrants

· The extent to which entrants are a threat depends on the existence and level of barriers to entry into the industry.

· Where barriers to entry provide an advantage to existing companies over new entrants.

· Barriers are maturity of the industry, the size of the barriers, the degree to which product or service is differentiated.

· Bargaining power of suppliers

· The power of suppliers over buyers increases where the concentration of suppliers is greater than the concentration of buyers.

· Where there are fewer substitutes for suppliers.

· Where the suppliers product is more differentiated.

· Bargaining power of buyers
· Buying power is the power of buyers over suppliers.

· It is affect by the bargaining ability of buyers and their price sensitivity.

· If is affected by the size and concentration of buyers

· The level of information available to buyers.

· Rivalry among existing organisations

· This is the strongest of all the forces.
· The organisations in your specific industry are your direct competitors and take action that will invite competitive responses.  E.g. Nando’s and Chicken Licken are direct competitors of KFC.
· Threat of substitute products
· A substitute product from another industry can be used to perform similar functions as the product in the industry.

· It is a strong threat when switching cost is low, substitute product has lower price or quality is equal or greater.
36. Diagrammatically illustrate the Porters five-force model? (5)
37. Describe the limitations of Porters five-force model? (5)
· The model claims to assess the profitability of the industry.
· Individual organisations success is more important than industry factors.

· The model implies that the five forces apply equally to all competitors in the industry.

· Buyer power may differ from organisation to organisation

· Product and resource markets are not adequately covered by the model.

· Markets where products are sold need more analysis.

· The model can never be applied in isolation.

· Model only relevant when macro environment remained constant and stable.

· Model assumes that the relationship between competitors is always hostile.

· Competitors often see fair play relationship as important.
38. Describe the variables that comprise the sub environments in the market or task environment?(4)***
· An organisations immediate environment is known as Market or task environment.
· The sub environments are Suppliers, distributors/intermediaries, customers and competitors.

· Suppliers are individuals and organisations that provide the input resource so that an organisation can produce products and services.

· Distributors/intermediaries help other organisations bridge the gap between the manufactures and customers by selling their products and services to the final consumers.

· Customers/markets are individual or organisations that buy the goods that an organisation produces.

· Competitors are organisations that produce similar goods and services to compete for the same customers.
39. Identify and explain the focus areas of long-term goals? (8)

· The components of the mission statement provide guidelines for the areas that long term goals should focus on.

· Long term goals could focus on issues such as market, product, technology, survival, growth, profitability, customers and quality.

· Other components are public image, philosophy and self-concept of the organisation.

· Focus areas could include issues such as continuous improvement, customer service, employee efficiency, innovation, sales and financial criteria such as Return of investment, earnings per share, revenue and turnover.

· The focus areas of long term goals will differ from organisation to organisation and from industry to industry.
40. Explain how the balanced scorecard is used to formulate long-term goals? (5)

· The balanced scorecard is a set of measures that are linked directly to the vision, mission and strategy of the organisation.
· It balances short and long term measures, financial and non financial measures and internal and external performance perspectives.
· The balance scorecard comprises the following 4 perspectives:
· Financial perspective, Customer perspective, Internal business perspective and learning and growth perspective.
· Each of the above perspectives comprises clear objectives, measures, targets and initiatives to set long term goals.
41. Comment on the factors that impact on strategic choice? (5)

· There are various factors that play a role in selection of a strategy.

· The different components of the strategic planning process would impact on the choice of strategy.

· A change of any component of the strategic planning process may require a change in strategy.

· Other factors that impact the choice of strategy are the preferences of top management, organizational leadership, organizational culture as well as the history of the organisation.

42. Explain the difference between generic and grand strategies? (2)

· Generic strategies identify bases from which organisations can pursue competitive advantages.  It is not always clear how a particular competitive advantage is achieved.

· Grand strategies also referred as business strategies are more specific strategies that organisations can pursue in order to achieve cost leadership, differentiation or focus.  Enable organisations to attain their long term objectives.
43. If the strategic focus of an organization is internal growth, what grand strategies could it consider? (5)

· The growth strategies that focus on the internal environment are:

· Concentrated growth, also referred to as market penetration

· Market development
· Product development

· Innovation
44. Explain the various internal and external growth strategies.  Use relevant examples to support your explanation? (16) 
· Internal growth strategies:
· Concentrated growth, also referred to as market penetration

· A strategy that seeks to increase the market share of an organisation through concentrated marketing efforts.  Present market and present products.

· Market development

· Present products or services are introduced to new areas or countries.  E.g. MTN enter African markets.

· Product development

· Improve the products and services of the organisation to increase sales.  E.g. Toyota with new sporty looks.

· Innovation
· Use innovation to create new products or services.
· External growth strategies:
· Related or concentric diversification
· Adding new but related products to the production line. Canon camera also copy machines.
· Unrelated or concentric diversification

· Adding new unrelated products to the production line to reach new markets.

· Vertical integration
· Extend the scope and operations of an organisation to other activities within the same industry.

· Backward vertical integration

· Gaining ownership or increased control of organisations suppliers.  E.g. Toyota gaining ownership of Armstrong shocks.

· Forward vertical integration 

· Gaining ownership over distributors/retailers.

· Horizontal integration

· Organisation seeks ownership or increased control over certain value chain activities of its competitors. E.g. merges of Volkskas, United, Trust bank and Allied into ABSA.

45. Differentiate between the 4 generic strategies? Use relevant examples to support your explanation. (20)

· Cost leadership strategy

· Differentiation strategy

· Focus strategy

· Best-cost strategy
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